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library(rpart)
table(kyphosis$Kyphosis) #target var. table
fit = rpart(Kyphosis ~ Age+ Number + Start, data = kyphosis,
method="anova")
plot(fit, uniform=TRUE,
main="Classification Tree for Kyphosis")
text(fit, use.n = TRUE)
summary(fit) #summary

fit #node classification
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Classification Tree for Kyphosis 1) root 81 17 absent (0.79912346 0.20987654)
- 2) Start>=8.5 62 6 absent (0.90322581 0.09677419)
f 4) Start>=14.5 29 0 absent (1.00000000 0.00000000) *
preL

5) Start< 14.5 33 6 absent (0.81818182 ©.18181818)

Startj=14.5 10) Age< 55 12 @ absent (1.00000000 0.00000000) *

-

8/1 11) Age>=55 21 6 absent (0.71428571 0.28571429)
Agerk 55 22) Age>=111 14 2 absent (0.85714286 0.14285714) *
sent 23) Age< 111 7 3 present (0.42857143 ©.57142857) *

9/0 Ages=111 3) Start< 8.5 19 8 present (0.42105263 0.57894737) *

absent
12/0
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library(MASS)

library(tree)

(class) data(iris)

> fit #node classification o _
n= 81 table(iris$Species)

ir. fit=tree(Species ~., iris)
node), split, n, deviance, yval

* denotes terminal node summary(ir.fit)
ir.fit
1) root 81 13.432100 1.209877 Vs . o .
2) Start>=8.5 62 5.419355 1.096774 ir.fitO = snip.tree(ir.fit, nodes = c(12, 7)) #pruning

4) Start>=14.5 29 0.000000 1.000000 * plot(ir.fit)
5) Start< 14.5 33 4.909091 1.181818 A
10) Age< 55 12 ©.000000 1.000000 * text(irfit, all =)
11) Age>=55 21 4.285714 1.285714 plot(ir.fitO)

22) Age>=111 14 1.714286 1.142857 * o

23) Age< 111 7 1.714286 1.571429 * text(irfit0, all = T)

3) Start< 8.5 19 4.631579 1.578947 * (anova) ir.fit2 = prune.misclass(ir.fit,best=4)



plot(ir.fit2)
text(ir.fit2, all =T)
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> summary(ir.fit)

Classification tree:

tree(formula = Species ~ ., data = iris)
Variables actually used in tree construction:
[1] "Petal.Length" "Petal.Width" "Sepal.Length"
Number of terminal nodes: 6

Residual mean deviance: ©0.1253 = 18.05 / 144
Misclassification error rate: 0.02667 = 4 / 150
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> summary(ir.fit@)

Classification tree:

snip.tree(tree = ir.fit, nodes = c(12L, 7L))
Variables actually used in tree construction:
[1] "Petal.Length" "Petal.Width"

Number of terminal nodes: 4

Residual mean deviance: ©0.1849 = 26.99 / 146
Misclassification error rate: 0.02667 = 4 / 150



